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1. Mass communication is generally 

identified with modern mass media 

like ___________. 

(A)   Television and radio 

(B) Cinema and newspaper  

(C) Farm and Home visit 

(D) All of the above  

 1. Tkulapkj dks vke rkSj ij____vk/kqfud 

tulapkj ek/;eksa ls igpkuk tkrk gSA 

(A) Vsyhfotu vkSj jsfM;ks 

(B) flusek vkSj v[kckj 

(C) QkeZ vkSj ?kj dk nkSjk 

(D) mijksDr lHkh  

2. The term class media refers to : 

(A)   Mass media 

(B) Group media 

(C) Interpersonal media 

(D) Intrapersonal media 

 

 2. o.kZ ehfM;k dk vFkZ gS % 

(A) ekl ehfM;k 

(B) lewg ehfM;k 

(C) baVjilZuy ehfM;k 

(D) baVªkilZuy ehfM;k 

3. Cybernetics is a science of : 

(A)   Decision making 

(B) Organizations  

(C) Ecology 

(D) Communication 

 3. lkbcjusfVDl ,d ladsr gS foKku dk % 

(A) fu.kZ; ysuk 

(B) laxBu 

(C) ikfjfLFkfrdh 

(D) lapkj 

4. LCD expands for : 

(A)   Lazier Crystal Display 

(B) Lazier Crystal Digital  

(C) Liquid Crystal Display 

(D) Liquid Crystal Digital 

 4. LCD dks dgrs gSa % 

(A) ysft+;j fØLVy fMLIys 

(B) ysft+;j fØLVy fMftVy 

(C) fyfDoM fØLVy fMLIys 

(D) fyfDoM fØLVy fMftVy 
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5. Which of the following 

instructional aids essentially 

involves two sense organs : 

(A)   Television  

(B) Radio 

(C) Poster  

(D) All of the above  

 5. fuEufyf[kr esa ls fdl funsZ’kkRed lgk;rk 

esa vfuok;Z :i ls nks vax dk mi;ksx gksrk 

gS % 

(A) Vsyhfotu 

(B) jsfM;ks 

(C) iksLVj 

(D) mijksDr lHkh  

6. Amplifier is a _________. 

(A)   Print medium  

(B) Electronic medium  

(C) Written medium  

(D) None of these  

 6. ,EiyhQk;j ,d_________gSA 

(A) fiazV ek/;e 

(B) bysDVªkWfud ek/;e 

(C) fyf[kr ek/;e  

(D) buesa ls dksbZ ugha  

7. All capital words are difficult to 

read because of : 

(A)   Lack of symmetry 

(B) Uneven loops and strokes 

(C) Psychological problem  

(D) None of above  

 7. lHkh cM+s ‘kCn leLr :i ls i<+usa esa dfBu 

gksrs gSa D;ksafd % 

(A) le:irk dk vHkko 

(B) vleku ywi vkSj LVªksd  

(C) eukSoSKkfud leL;k 

(D) mijksDr dksbZ ugha  

8. The optimum number of flash 

cards is : 

(A)   10-12 

(B) 12-14 

(C) 14-16 

(D) 16-18 

 8. ¶yS’k dkMZ dh b”Ve la[;k % 

(A)   10-12  

(B) 12-14 

(C) 14-16 

(D) 16-18 
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9. Feedback is inferential in case of 

communication made through : 

(A)   Village level worker  

(B) Group meeting  

(C) Radio 

(D) Method demonstration 

 9. fuEufyf[kr ds ek/;e ls fd, x, lapkj ds 

ekeys esa izfrfØ;k vuqekfur gS % 

(A) xzke Lrj ds dk;ZdŸkkZ 

(B) lewg cSBd 

(C) jsfM;ks 

(D) fof/k izn’kZu 

10. The communication channel most 

suited in persuading an individual 

to accept a new idea_________. 

(A)   Mass media channel 

(B) Interpersonal channel  

(C) Both (A) and (B) 

(D) None of the above  

 10. u, fopkj dks Lohdkj djus ds fy, fdlh 

O;fDr dks jkth djus esa _________lapkj 

pSuy lcls mi;qDr gS % 

(A) ekl ehfM;k pSuy 

(B) bUVjilZuy pSuy 

(C) nksuksa (A) vkSj (B) 

(D) mijksDr dksbZ ugha 

11. A formal communication may be : 

(A)   Mandatory 

(B) Indicative  

(C) Both (A) and (B) 

(D) None of the above  

 11. ,d vkSipkfjd lapkj dgykrk gS % 

(A) vfuok;Z ds :i esa  

(B) ladsrd 

(C) nksuksa (A) vkSj (B) 

(D) mijksDr dksbZ ugha  

12. A leader who is well trained and 

paid : 

(A)   Autocratic leader  

(B) Democratic leader 

(C) Lay leader 

(D) Professional leader 

 12. usrk tks vPNh rjg ls izf’kf{kr gS vkSj 

Hkqxrku fd;k tkrk gS % 

(A) fujadq’k usrk ds :i esa  

(B) yksdrkaf=d usrk 

(C) ys usrk  

(D) is’ksoj usrk  
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13. Television is basically a _______. 

(A)   Source  

(B) Media 

(C) Audio-visual aid  

(D) None  

 13. Vsyhfotu ewy :i ls _________gSA 

(A) lzksr 

(B) ehfM;k 

(C) vkWfM;ks&fotqvy ,sM 

(D) dksbZ Hkh ugha  

14. Planning is a _________process. 

(A)   Social  

(B) Mental process  

(C) Economic 

(D) Cultural  

 14. ;kstuk ,d _________izfØ;k gSA 

(A) lkekftd  

(B) ekufld izfØ;k  

(C) vkfFkZd  

(D) lkaL—frd  

15. Feedback is associated with 

_________. 

(A)   Audience  

(B) Message  

(C) Channel 

(D) Audience approach 

 15. QhMcSd fdlls tqM+k gqvk gS _________ 

(A) n’kZd  

(B) lans’k  

(C) pSuy 

(D) n’kZd nf̀”Vdks.k 

16. Which of the following is not the 

element of communication 

process? 

(A)   Message  

(B) Feedback 

(C) Channel 

(D) Fidelity 

 16. fuEufyf[kr esa ls dkSu lapkj izfØ;k dk 

rRo ugha gS\ 

(A) lans’k  

(B) izfrfØ;k 

(C) pSuy 

(D) fu”Bk 
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17. The type of audience suited for 

communication process is called : 

(A)   Active audience  

(B) Potential audience  

(C) Available audience  

(D) None of these 

 17. lapkj izfØ;k ds fy, mi;qDr n’kZdksa ds 

izdkj dks dgk tkrk gS % 

(A) lfØ; n’kZd 

(B) laHkkfor n’kZd  

(C) miyC/k n’kZd  

(D) buesa ls dksbZ ugha  

18. Communication is the process by 

which message are transferred 

from_________ to receiver. 

(A)   Channel  

(B) Message 

(C) Source  

(D) Effect  

 18. Lakpkj ,d izfØ;k gS ftlds }kjk lans’k dks 

_________ls fjlhoj dks LFkkukarfjr 

fd;k tkrk gSA 

(A) pSuy 

(B) lans’k  

(C) lzksr  

(D) izHkko 

19. Educational television is classified 

under : 

(A)   Broadcast media 

(B) Screen media 

(C) Printed media  

(D) None of these 

 19. ‘kSf{kd Vsyhfotu dks oxhZ—r fd;k x;k gS % 

(A) izlkj.k ehfM;k  

(B) LØhu ehfM;k 

(C) fiazVsM ehfM;k 

(D) buesa ls dksbZ ugha  
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20. In extension education, 

communication is :  

(A)   Process  

(B) Method  

(C) Idea  

(D) Expression of thoughts  

 20. izlkj f’k{kk esa] lapkj gS % 

(A) izfØ;k 

(B) fof/k  

(C) fopkj 

(D) fopkjksa dh vfHkO;fDr  

21. In extension education, exhibition 

is helpful for : 

(A)   Individual learning  

(B) Group communication  

(C) Mass communication  

(D) None of these  

 21. izlkj f’k{kk esa izn’kZuh ds fy, lgk;d gS % 

(A) O;fDrxr f’k{kk  

(B) lewg lapkj 

(C) tu lapkj 

(D) mi;ZqDr dksbZ ugha  

22. Speaking and writing involve 

which communication skills : 

(A)   Encoding 

(B) Decoding  

(C) Feedback  

(D) Knowledge  

 22. cksyus vkSj fy[kus esa dkSu ls lapkj dkS’ky 

‘kkfey gS % 

(A) ,UdksfMax  

(B) MhdksfMax 

(C) izfriqf”V 

(D) Kku 

23. Which of the following is a 

traditional and simple aid of 

communications? 

(A)   Model 

(B) Puppet 

(C) Radio 

(D) TV 

 23. fuEu esa ls dkSu&lk lapkj dk ikjaifjd vkSj 

ljy lk/ku gS\ 

(A) ekWMy  

(B) dBiqryh  

(C) jsfM;ks 

(D) Vhoh 
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24. Which one is not the mode of 

radio broadcast? 

(A)   Straight talks 

(B) Interviews  

(C) Songs 

(D) Lectures  

 24. dkSu&lk jsfM;ks izlkj.k dk ek/;e ugha gS\ 

(A) lh/kh ckrphr 

(B) bUVO;Zw 

(C) xkus 

(D) ysDpj 

25. Which one is not the part of 

communication model ? 

(A)   communicator 

(B) Message  

(C) Advice  

(D) Audience  

 25. buesa ls dkSu&lk lapkj dk fgLlk ugha gS\ 

(A) lapkjd  

(B) lans’k  

(C) lykg  

(D) n’kZd 

26. Result demonstration is done in : 

(A)   Research station  

(B) Farmer’s field  

(C) District farms  

(D) None of the above  

 26. ifj.kke izn’kZu fd;k tkrk gS % 

(A) vuqla/kku dsUnz 

(B) fdlku dk [ksr  

(C) ftyk QkeZ 

(D) mijksDr dksbZ ugha  

27. Extension is a science is classified 

under : 

(A)   Hard science  

(B) Soft science  

(C) Pure science  

(D) Physical science  

 27. ,d foKku ds :i esa izlkj dks oxhZ—r 

fd;k x;k gSa % 

(A) dfBu foKku 

(B) lkW¶V foKku 

(C) ‘kq) foKku  

(D) HkkSfrd foKku 
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28. Extension can be considered to 

have developed from _________. 

(A)   Sociology 

(B) Psychology  

(C) Education  

(D) Philosophy 

 28. izlkj dks _________ls fodflr ekuk tk 

ldrk gSA 

(A) lekt’kkL= 

(B) euksfoKku  

(C) ,tqds’ku 

(D) fQykWlQh 

29. The person considered as father of 

extension in India : 

(A)   Adivi Reddy 

(B) O. P. Dhama 

(C) K. N. Singh  

(D) J.B. Chitambar  

 29. Hkkjr esa izlkj dk tud ekuk tkus okyk   

O;fDr % 

(A) vnhoh jsM~Mh  

(B) vksŒihŒ /kkek 

(C) dsŒ ,uŒ flag  

(D) tsŒ chŒ fprkacj  

30. The Latin root for the word 

‘extension’_________. 

(A)   Ex and tensio 

(B) Ex and tension  

(C) Ex and luceo 

(D) Ex and termo 

 30. ySfVu ewy ds fy, ______’kCn *izlkj* gSA 

(A) iwoZ vkSj VsfU’k;ks 

(B) ,Dl vkSj VsU’ku 

(C) ,Dl vkSj ywflvks 

(D) ,Dl vkSj VeksZ 

31. The basic unit of extension work  

is : 

(A)   Individual  

(B) Society 

(C) Family 

(D) Community  

 31. izlkj f’k{kk dh ewy bdkbZ gS % 

(A) O;fDrxr  

(B) lekt  

(C) ifjokj 

(D) leqnk; 
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32. Extension Education is : 

(A)   Formal education  

(B) Informal education  

(C) Non-formal education  

(D) All of the above  

 32. izlkj f’k{kk gS % 

(A) vkSipkfjd f’k{kk  

(B) vukSipkfjd f’k{kk  

(C) ukWu&QkeZy f’k{kk  

(D) mijksDr lHkh  

33. The basic element at the core of 

extension education is : 

(A)   Man himself  

(B) Man and environment  

(C) Institutions 

(D) Farmers 

 33. izlkj f’k{kk dk ewy rRo gS % 

(A) [kqn euq”; 

(B) euq”; vkSj i;kZoj.k 

(C) laLFkku 

(D) fdlku 

34. The instrument used by extension 

to bring change :  

(A)   Communication  

(B) Teaching  

(C) Learning  

(D) Adoption  

 34. ifjorZu ds fy, izlkj }kjk mi;ksx fd;s 

tkus okyk midj.k gS % 

(A) lapkj  

(B) f’k{k.k 

(C) lh[kuk  

(D) ,sMkI’ku 

35. Extension can be considered as a : 

(A)   Service  

(B) Profusion  

(C) Discipline  

(D) All of the above  

 35. izlkj ds :i esa ekuk tk ldrk gS % 

(A) lsok ds :i esa  

(B) is’kk  

(C) vuq’kklu 

(D) mijksDr lHkh  
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36. Extension is not : 

(A)   Voluntary  

(B) Family centered 

(C) Conclusion oriented  

(D) Flexible 

 36. izlkj ugha gS % 

(A) LoSfPNd  

(B) ifjokj dsfUnzr  

(C) fu”d”kZ mUeq[k  

(D) yphyk  

37. Training differs from development 

in the sense the former is : 

(A)   Long term 

(B) Short term 

(C) Equal term 

(D) None of the above  

 37. izf'k{k.k fodkl ls bl vFkZ esa fHkUu gS % 

(A) nh?kZdkfyd 

(B) vYikof/k 

(C) leku in  

(D) mijksDr esa ls dksbZ ugha  

38. Training is a function of : 

(A)   Knowledge only 

(B) Attitude only 

(C) Skill only 

(D) All of the above  

 38. izf'k{k.k dk dk;Z gS % 

(A) dsoy Kku 

(B) dsoy joS;k  

(C) dsoy dkS’ky 

(D) mijksDr lHkh  

39. Training basically is a : 

(A)   Product  

(B) Process  

(C) Activity 

(D) Programme  

 39. izf'k{k.k ewy :i ls ,d % 

(A) mRikn 

(B) izfØ;k 

(C) xfrfof/k  

(D) dk;ZØe 
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40. Mass media channel include  :  

(A)   Radio 

(B) Newspaper  

(C) Television  

(D) All of the above  

 40. tu lapkj ek/;e esa ‘kkfey gS % 

(A) jsfM;ks 

(B) v[kckj  

(C) Vsyhfotu 

(D) mijksDr lHkh  

41. An impression of type taken on 

paper to make corrections: 

(A)   Cut 

(B) Crop 

(C) Pix 

(D) Proof  

 41. dkxt ij fy;k x;k ,d izdkj dh Nki tks 

lq/kkj djus ds fy, gS % 

(A) dV 

(B) ØkWi 

(C) fiDl 

(D) lcwr 

42. Non-photographic reconstruction 

of reality is : 

(A)   Illustration  

(B) Pictures  

(C) Models  

(D) Diagrams  

 42. xSj&QksVksxzkfQd iqufuZekZ.k ,d okLrfodrk 

gS % 

(A) fp=.k izek.khdj.k 

(B) fp= 

(C) ekWMy  

(D) vkjs[k 

43. Which of the following is the 
visual aid of communication? 
(A)   Radio 
(B) Poster 
(C) Television  
(D) Drama  

 43. fuEufyf[kr esa ls dkSu&lk fotqvy ,sM 

lapkj esa lgk;d gS\ 

(A) jsfM;ks 

(B) iksLVj 

(C) Vsyhfotu 

(D) Mªkek 
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44. Extension programme planning is 

a : 

(A)   Educational process  

(B) Administrative process  

(C) Effective process  

(D) Uniform process 

 44. izlkj dk;ZØe dh ;kstuk bl izdkj gS % 

(A) ,d ‘kSf{kd izfØ;k  

(B) iz’kklfud izfØ;k 

(C) izHkkoh izfØ;k  

(D) leku izfØ;k 

45. A blue print for action is : 

(A)   Plan  

(B) Programme  

(C) Objective  

(D) Project 

 45. ,d Cyw fizaV dgykrk gS % 

(A) ,d ;kstuk 

(B) dk;ZØe 

(C) mÌs’; 

(D) ifj;kstuk  

46. The basic philosophy of extension 

is to teach people : 

(A)   What to do 

(B) When to do 

(C) How to do  

(D) Where to do  

 46. izlkj dk foLrkj ls ewy n’kZu yksxksa dks 

i<+krk gS % 

(A) D;k djuk gS 

(B) dc djuk gS 

(C) dSls djuk gS 

(D) dgk¡ djuk gS 

47. An electronic audio-visual 

medium which provide pictures 

with synchronized sound : 

(A)   Television 

(B) Radio 

(C) Films 

(D) Print media  

 47. ,d bysDVªkfud vkWfM;ks&ohtqvy ek/;e tks 

fp= vkSj flaØukbt /ofu iznku djrk gS % 

(A) Vsyhfotu 

(B) jsfM;ks 

(C) fQYesa  

(D) fizUV ehfM;k 
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48. The medium that does not disturb 

normal work much : 

(A)   Television  

(B) Newspaper  

(C) Radio 

(D) Video 

 48. og ek/;e tks lkekU; dk;Z dks T;knk 

ckf/kr ugha djrk gS % 

(A) Vsyhfotu 

(B) lekpkj i= 

(C) jsfM;ks 

(D) ohfM;ks 

49. The legan’s model of 

communication contains _______. 

(A)   4 elements 

(B) 5 elements 

(C) 6 elements  

(D) 7 elements  

 49. yhxku ds lapkj ekWMy esa ‘kkfey gS _____ 

(A) 4 rRo 

(B) 5 rRo 

(C) 6 rRo 

(D) 7 rRo 

50. Theory of communication act is 

proposed by _________. 

(A)   New comb 

(B) Heider  

(C) Cronkhite  

(D) None  

 50. lapkj vf/kfu;e ds fl)kar_________}kjk 

izLrkfor gS % 

(A) U;w dkWEc 

(B) ghMj 

(C) Øksu[kkbV 

(D) dksbZ ugha  
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51. A three dimensional recognizable 

imitation of an object is : 

(A)   Illustration  

(B) Model 

(C) Mockup  

(D) Specimen 

 51. fdlh oLrq dh f=foeh; igpku ;ksX; udy 

gS % 

(A) fp=.k 

(B) ekWMy 

(C) ekWdvi 

(D) uewuk 

52. Where is Indian Institute of Mass 

communication located : 

(A)   Jodhpur 

(B) Chandigarh 

(C) Mumbai 

(D) New Delhi 

 52. bafM;u baLVhV~;wV vkWQ ekl dkE;wfuds’ku 

dgk¡ gS % 

(A) tks/kiqj 

(B) paMhx<+ 

(C) eqEcbZ 

(D) ubZ fnYyh 

53. The main problem with mass 

communication is : 

(A)   Costly 

(B) No local dialect  

(C) Same information  

(D) Cumbersome  

 53. Tkulapkj dh eq[; leL;k gS % 

(A) egaxkbZ 

(B) dksbZ LFkkuh; cksyh ugha  

(C) ogh tkudkjh 

(D) cksf>y  
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54. Providing too much information is 

a communication barrier related to: 

(A)   Communicator  

(B) Message  

(C) Treatment  

(D) Receiver  

 54. cgqr vf/kd tkudkjh iznku djuk fdl 

lapkj cSfj;u ls lacaf/kr gS % 

(A) lapkjd 

(B) lans’k  

(C) bykt  

(D) fjlhoj 

55. Communication barriers include : 

(A)   Social 

(B) Semantic  

(C) Technical  

(D) All of the above  

 55. lapkj cSfj;lZ esa ‘kkfey gS % 

(A) lekt  

(B) vFkZ&laca/kh 

(C) rduhdh  

(D) Åij ds lHkh  

56. Communication behaviour 

essentially consist of : 

(A)   Information seeking  

(B) Information processing  

(C) Information disseminating  

(D) All of the above  

 56. lapkj O;ogkj esa vfuok;Z :i ls ‘kkfey gS % 

(A) tkudkjh <wa<uk 

(B) lwpuk izkØe  

(C) lwpuk dk izlkj 

(D) mi;qZDr lHkh  

57. Which of the following is not 

communication process : 

(A)   Source  

(B) Encoding  

(C) Transmission  

(D) Meeting 

 57. fuEufyf[kr esa ls dkSu lapkj izfØ;k ugha  

gS % 

(A) lzksr 

(B) dwV ys[ku 

(C) gLrkarj.k  

(D) lHkk 
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58. Television is primarily a_______. 

(A)   Media mix 

(B) Source  

(C) Medium  

(D) Channel 

 58. Vsyhfotu ,d izkFkfed _________gSA 

(A) ehfM;k feDl 

(B) lzksr  

(C) ek/;e 

(D) pSuy 

59. The link that connects the source 

with the receiver : 

(A)   Message  

(B) Communication effect  

(C) Channel  

(D) Treatment  

 59. og fyad tks lzksr dks fjlhoj ls tksM+rk gS %  

(A) lans’k  

(B) lapkj izHkko 

(C) pSuy  

(D) VªhVesUV 

60. The basic characters  a good 

message include : 

(A)   Timeliness 

(B) Specificity 

(C) Credibility 

(D) All of the above  

 60. ,d vPNs lans’k ds ewy pfj= esa ‘kkfey gSa % 

(A) lkef;drk 

(B) fo’ks”krk 

(C) fo’oluh;rk 

(D) Åij ds lHkh  

61. Level of communication are : 

(A)   Conventional  

(B) Exploratory  

(C) Participative  

(D) All of the above  

 61. Lakpkj ds Lrj gS % 

(A) ikjaifjd 

(B) [kkstiw.kZ 

(C) lgHkkfxrk 

(D) mi;qZDr lHkh  
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62. Communication is more 

meaningfully: 

(A)   Extension approach  

(B) Subset of broadcasting  

(C) Exchange of facts and feeling  

(D) None of the above  

 62. lapkj vf/kd lkFkZd gS % 

(A) izlkj nf̀”Vdks.k 

(B) izlkj.k dk lclsV 

(C) rF;ksa vkSj Hkkoukvkas dk vknku&iznku 

(D) mi;qDr dksbZ ugha  

63. The most basic function of 

communication : 

(A)   Information  

(B) Instruction  

(C) Integration  

(D) Influence  

 63. lapkj dk lcls cqfu;knh dk;Z % 

(A) tkudkjh  

(B) funsZ’k 

(C) ,dhdj.k  

(D) izHkko 

64. The word communication have 

originated from_________. 

(A)   Latin  

(B) Roman 

(C) Greek 

(D) Persion 

 64. lapkj ‘kCn dh mRifŸk _______ls gqbZ gSA 

(A) ySfVu 

(B) jkseu 

(C) xzhd 

(D) if’kZ;u 

65. The concept of demonstration was 

popularized by _________. 

(A)   Robert chambers  

(B) Paul leagans   

(C) E. M. Rogers 

(D) Seaman knapp 

 65. izn'kZu dh vo/kkj.kk _________}kjk 

yksdfiz; gqbZ FkhA 

(A) jkWcVZ psaclZ 

(B) ikWy yhxal 

(C) bZŒ ,eŒ jkstlZ 

(D) lheSu uSi 
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66. A short series of lectures by 5-7 

experts on sub topics of a main 

topic is called :  

(A)   Seminar  

(B) Workshop 

(C) Symposium  

(D) Conference  

 66. ,d eq[; fo”k; ds mi fo”k;ksa ij 5&7 

fo’ks”kKksa }kjk O;k[;ku dh ,d NksVh lh 

Jà[kyk dks dgk tkrk gS % 

(A) lsfeukj  

(B) dk;Z’kkyk 

(C) laxks”Bh 

(D) lEesyu 

67. Nature of learners in extension 

Education is : 

(A)   Homogenous  

(B) Heterogeneous 

(C) Cosmopolite  

(D) Locality 

 67. foLrkj f’k{kk esa f’k{kkfFkZ;ksa dh iz—fr % 

(A) ltkrh; 

(B) fo”ke 

(C) dkWLeksiksVy 

(D) LFkkuh;rk  

68. Extension method best suited to 

‘tackle a burning problem at an 

opportune time is :  

(A)   Field trip 

(B) Campaign  

(C) Group discussion  

(D) General meeting  

 68. ,d mi;qDr le; ij ,d tyrh gqbZ 

leL;k ls fuiVus ds fy, lcls mi;qDr 

rjhdk % 

(A) QhYM ;k=k 

(B) vfHk;ku  

(C) lewg ppkZ 

(D) tujy cSBd 
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69. Poster is a : 

(A)   Projected visual aid  

(B) Audio-visual aid  

(C) Audio aid 

(D) Non-projected visual aid 

 69. iksLVj ,d gS % 

(A) vuqekfur ǹ’; lgk;rk 

(B) vkWfM;ks n’̀; lgk;rk  

(C) vkWfM;ks lgk;rk 

(D) xSj&vuqekfur ǹ’; lgk;rk 

70. A Statement of situation, 

objectives, problems and solution 

is known as_________. 

(A)   Extension program  

(B) Evaluation  

(C) Plan of work 

(D) Calendar of work 

 70. fLFkfr] mÌs’;ksa] leL;kvksa vkSj lek/kku dk 

,d c;ku______ds :i esa tkuk tkrk gSA 

(A) foLrkj dk;ZØe 

(B) ewY;kadu 

(C) dk;Z ;kstuk  

(D) dk;Z dk dSysaMj 

71. The ideal size for flash card is : 

(A)   22×28 inches  

(B) 8×10 inches 

(C) 10×12 inches 

(D) 12×12 inches 

 71. ¶yS’k dkMZ ds fy, vkn’kZ vkdkj gS % 

(A)  22×28 bap 

(B) 8×10 bap 

(C) 10×12 bap 

(D) 12×12 bap 

72. Charts that are particularly useful 

in showing trends and 

relationships are : 

(A)   Line charts  

(B) Stream charts 

(C) Time charts  

(D) Pictorial charts  

 72. pkVZ tks fo’ks”k :i ls :>kuksa vkSj fj’rksa dks 

fn[kkus esa mi;ksxh gksrs gSa % 

(A) js[kk pkVZ 

(B) LVªhe pkVZ 

(C) le; pkVZ 

(D) lfp= pkVZ 
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73. Group approach in teaching Home 

Science include : 

(A)   Method demonstration  

(B) Lecture 

(C) Conference  

(D) All of the above  

 73. xg̀ foKku ds f’k{k.k esa lewg ǹf”Vdks.k esa 

‘kkfey gS % 

(A) fof/k izn’kZu 

(B) O;k[;ku 

(C) lEesyu 

(D) mi;qZDr lHkh  

74. Auditory communication is 

dependent on _________. 

(A)   Gestures 

(B) Hearing 

(C) Ideas 

(D) None  

 74. Jo.k lapkj ij fuHkZj gS _________A 

(A) b’kkjksa  

(B) lquuk 

(C) fopkj  

(D) dksbZ ugha  

75. Verbal mode of communication 

have barriers in delivering the 

proper message such as ________. 

(A)   Thoughts  

(B) Perceptions  

(C) Emotions  

(D) All of the above  

 75. Lakpkj ds ekSf[kd :i ls mfpr lans’k nsus esa 

ck/kk gks ldrh gS] tSls fd _________A 

(A) fopkj  

(B) /kkj.kk  

(C) Hkkouk,¡ 

(D) mi;qZDRk lHkh  

76. _________is a type of verbal 

communication : 

(A)   Oral communication 

(B) Written communication  

(C) Body language  

(D) Both (A) and (B) 

 76. ________,d izdkj dk ekSf[kd lapkj gSA  

(A) ekSf[kd lapkj  

(B) fyf[kr lapkj 

(C) ‘kkjhfjd gko&Hkko 

(D) (A) vkSj (B) nksuksa  
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77. All are the components of listening 

except : 

(A)   Hearing  

(B) Attending – being attentive  

(C) Answering  

(D) Understanding and 

remembering  

 77. lHkh dks lquus ds ?kVdksa dks NksM+dj % 

(A) Jo.k 

(B) mifLFkr gksuk /;ku nsuk 

(C) mŸkj nsuk 

(D) le> vkSj ;kn j[kuk 

78. Communication between two 

members of a project team from 

different function, but the same 

level of authority is 

_________communication. 

(A)   Upward 

(B) Downward  

(C) Lateral 

(D) Diagonal  

 78. fofHkUu dk;ksaZ ls ,d izkstDV Vhe ds nks 

lnL;ksa ds chp lapkj] ysfdu vf/kdkj dk 

leku Lrj _________lapkj gSA 

(A) Åij dh vksj  

(B) uhps  

(C) ik’oZ 

(D) fod.kZ 

79. All are the examples of the media 

of two-way communication 

except: 

(A)   Public meeting 

(B) Padyatra  

(C) Streetplays  

(D) Rallies  

 79. lHkh nks rjg ls lapkj ds ehfM;k ds 

mnkgj.k gSa % 

(A) lkoZtfud cSBd 

(B) in;k=k 

(C) uqDdM+ukVd 

(D) jSfy;k¡ 
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80. Which of the following method of 

communication is most effective? 

(A)   Presenting written material  

(B) Presenting written material 

along with film projector  

(C) Multimedia method  

(D) Cannot be determined 

 80. Lkapkj ds fuEufyf[kr rjhdksa esa ls dkSu&lk 

lcls izHkkoh gS\ 

(A) fyf[kr lkexzh izLrqr djuk  

(B) fQYe izkstsDVj ds lkFk fyf[kr 

lkexzh izLrqr djuk  

(C) cgq&ehfM;k fof/k  

(D) fu/kkZfjr ugha fd;k tk ldrk gS 

81. Listening to a lecture is : 

(A)   Information listening  

(B) Evaluative listening  

(C) Emphatic listening   

(D) None of these 

 81. ,d O;k[;ku lqu jgk gS % 

(A) lwpuk lquuk 

(B) ewY;kadu lquuk 

(C) tksjnkj lquuk 

(D) buesa ls dksbZ ugha  

82. Reading newspaper is : 

(A)   Interpersonal communication  

(B) Intrapersonal communication  

(C) Mass communication  

(D) Dyadic communication  

 82. v[kckj i<+uk gS % 

(A) ikjLifjd lapkj 

(B) varoZS;fDrd lapkj 

(C) tu lapkj 

(D) Mk;fMd lapkj 

83. The difference between what is 

and what ought to be is ? 

(A)   Need 

(B) Aim 

(C) Goal 

(D) Objective  

 83. D;k gS vkSj D;k gksuk pkfg, ds chp dk 

varj gS\ 

(A) t:jr  

(B) y{; 

(C) xksy 

(D) mÌs’; 
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84. Extension method are classified 

into individual, group and mass 

method based on________. 

(A)   Use  

(B) Type 

(C) Number of people contacted 

(D) Form  

 84. izlkj fof/k;ksa dks___ds vk/kkj ij O;fDrxr 

lewg vkSj lkewfgd fof/k esa oxhZ—r fd;k 

tkrk gSA 

(A) mi;ksx 

(B) izdkj  

(C) laidZ fd, x, yksxksa dh la[;k  

(D) izi= 

85. Education is shaped by________. 

(A)   Society 

(B) Teacher  

(C) Student 

(D) Knowledge  

 85. f'k{kk dks ____ds }kjk vkdkj fn;k x;k gSA 

(A) lekt  

(B) f’k{kd 

(C) Nk= 

(D) Kku 

86. What factor that affects every type 

of communication? 

(A)   Reception 

(B) Transmission 

(C) Context 

(D) Non-regulation  

 86. Okg dkSu&lk dkjd gS tks gj izdkj ds 

lapkj dks izHkkfor djrk gS\ 

(A) Lokxr  

(B) lapj.k 

(C) lanHkZ 

(D) xSj&fofu;eu 

87. Aspect of non-verbal 

communication are : 

(A)   Body language  

(B) Rigour of the petition 

(C) Eyes  

(D) Mouth 

 87. xSj&ekSf[kd lapkj ds igyw gS % 

(A) ‘kjhj dh Hkk”kk  

(B) nsgjko dh dBksjrk 

(C) vk¡[ksa  

(D) e¡qg 
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88. The English word communication 

is derived from the words : 

(A)   Communis and communicate  

(B) Communist & commune 

(C) Communism & 

communalism 

(D) Communion and 

commonsense 

 88. vaxzsth ‘kCn lapkj ‘kCnksa ls fy;k x;k gS % 

(A) dE;qful ,oa dE;qfudsV 

(B) dE;qfuLV ,oa dE;wu 

(C) lkE;okn ,oa lkaiznkf;drk  

(D) feyu ,oa lkekU; Kku 

89. Which of the following are non-

projected visual aids ? 

(A)   Charts, Poster, Slides  

(B) Charts, Slides, Graphs 

(C) Slides, Graphs, TV 

(D) Charts, Posters, Graphs 

 89. fuEufyf[kr ǹ’; lkexzh esa ls dkSu&lh 

ukWu&izkstksDVsM lkexzh gS\ 

(A) pkVZ] iksLVj] LykbZM 

(B) pkVZ] LykbZM] xzkQ 

(C) LykbZM] xzkQ] Vhoh 

(D) PkkVZ] iksLVj] xzkQ 

90. The Psychological barrier in 

communication can be : 

(A)   Stage-fright 

(B) Day dreaming 

(C) Happiness 

(D) Time  

 90. lEisz”k.k esa euksoSKkfud ck/kk,¡ gks ldrh gS\ 

(A) eap dk Hk; 

(B) fnokLoIu 

(C) [kq’kh 

(D) le; 
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91. The communication model “Who 

says, what, in which channel, to 

whom, with what effect” was 

proposed by ? 

(A)   Aristotle 

(B) Lasswell 

(C) Shannon and Weber 

(D) David Berlo 

 91. lEizs”k.k ekWMy **dkSu dgrk gS] D;k dgrk 

gS] fdl ek/;e ds }kjk] fdldkss vkSj fdl 

izHkko ls** ds izfriknd Fks\ 

(A) ,fjLVksVy  

(B) yklosy  

(C) ‘kSuu vkSj ohoj 

(D) MsfoM cyksZ 

92. The qualities of a receiver which 

influence face to face 

communication :  

(i)  Positive attitude   

(ii)  Active listening skills  

(iii)  Channel vehicle  

(iv)  Decoding skills  

(A)   (i), (ii), (iii) 

(B) (i), (iii), (iv) 

(C) (i), (ii), (iv) 

(D) (ii), (iii), (iv) 

 92. lzksrk ds os xq.k] tks vkeus&lkeus dh 

ckrphr dks izHkkfor djrs gSa] os gSa % 

(i)  ldkjkRed euksòfŸk  

(ii)  lfØ; Jo.k dkS’ky  

(iii)  ek/;e okgd 

(iv)  vFkZ le>us dk dkS’ky 

 (A)   (i), (ii), (iii) 

(B) (i), (iii), (iv) 

(C) (i), (ii), (iv) 

(D) (ii), (iii), (iv) 

93. If display visual are : 

(A)   Poster and chart  

(B) Chalk and flannel boards  

(C) Pictures and films 

(D) Graphs and maps  

 93. ;fn iznf’kZr ǹ’; gS % 

(A) iksLVj vkSj pkVZ 

(B) pkd vkSj Qykusy cksMZ 

(C) rLohjsa vkSj fQYesa  

(D) xzkQ vkSj uD’ksa 
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94. Which is currently the most 

popular method of delivering 

distance learning courses? 

(A)   Video conferencing 

(B) Video broad casting  

(C) Teleconferencing 

(D) Internet  

 94. orZeku esa nwjLFk f’k{kk ikB~;Øe igq¡pkus ds 

lcls yksdfiz; rjhdk gS\ 

(A) ohfM;ks dkWUÝsaflax  

(B) ohfM;ks izlkj.k  

(C) VsyhdkaÝasflax 

(D) baVjusV 

95. Charts that are particularly useful 

in showing trends and relationship 

are : 

(A)   Line charts  

(B) Stream charts  

(C) Time charts  

(D) Pictorial charts  

 95. pkVZ tks fo’ks”k :i ls :>kuksa vkSj fj’rksa dks 

fn[kkus esa mi;ksxh gksrs gSa % 

(A) js[kk pkVZ 

(B) LVªhe pkVZ 

(C) le; pkVZ 

(D) lfp= pkVZ 

96. The Latin roots for the word 

Extension : 

(A)   Ex and tensio 

(B) Ex and tension 

(C) Ex and Lucco 

(D) Ex and termo 

 96. ,DlVsa’ku ‘kCn ds fy, ySfVu ewy gS % 

(A) ,Dl vkSj VsfU’k;ks 

(B) ,Dl vkSj VsU’ku 

(C) ,Dl vkSj ywDdks 

(D) ,Dl vkSj VeksZs 

97. An aid to arouse people to 

immediate action and is highly 

suggestive is : 

(A)   Flash cards 

(B) Poster  

(C) Chalk board 

(D) Bulletin board 

 97. Ykksxksa dks rRdky dk;Zokgh djus ds fy, 

mŸksftr djus ds fy, lgk;rk vkSj 

vR;f/kd lq>ko gS % 

(A) ¶yS’k dkMZ 

(B) iksLVj 

(C) pkd cksMZ 

(D) cqysfVu cksMZ 
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98. Group approach in teaching 

Home-Science include________. 

(i)  Method demonstration  

(ii)  Lecture  

(iii)  Conference  

(iv)  Tours  

(A)   (i), (ii), (iii) 

(B) (ii), (iii), (iv) 

(C) (i), (ii), (iii), (iv) 

(D) (i), (iii), (iv) 

 98. xg̀ foKku ds f’k{k.k esa lewg ǹf”Vdks.k esa 

‘kkfey gSa________A 

(i)  fof/k izn’kZu 

(ii)  O;k[;ku 

(iii)  lEesyu 

(iv)  i;ZVu 

(A)   (i), (ii), (iii) 

(B) (ii), (iii), (iv) 

(C) (i), (ii), (iii), (iv) 

(D) (i), (iii), (iv) 
99. Communication skills, attitude, 

knowledge, Social system and 

culture should be present in :  

(A)   Source and message 

(B) Message and channel 

(C) Channel and receiver  

(D) Source and receiver  

 99. Lakpkj dkS’ky] joS;k] Kku lkekftd O;oLFkk 

vkSj laL—fr esa ekStwn gksuk pkfg, % 

(A) lzksr vkSj lans’k  

(B) lans’k vkSj pSuy 

(C) pSuy vkSj fjlhoj 

(D) lzksr vkSj fjlhoj  

100. The basic unit of video is : 
(A) Frame 
(B) Shot 
(C) Scene 
(D) Sequence  

 100. ohfM;ks dh ewy bdkbZ gS % 

(A) Ýse  

(B) ‘kkWV 

(C) n’̀; 

(D) vuqØe 

 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which All 100 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  

 


